
L
in

e
a

r c
o

n
v
e

y
o

r 
m

o
d

u
le

s

L
C

M
1
0

0
A

P
P
L
IC

A
T
IO

N

C
o

m
p

a
c
t

s
in

g
le

-a
x
is

 ro
b

o
ts

T
R

A
N

S
E
R

V
O

S
in

g
le

-a
x
is

 ro
b

o
ts

F
L
IP

-X

L
in

e
a

r m
o

to
r

s
in

g
le

-a
x
is

 ro
b

o
ts

P
H

A
S
E
R

C
a

rte
s
ia

n

ro
b

o
ts

X
Y

-X

S
C

A
R

A

ro
b

o
ts

Y
K

-X

P
ic

k
 &

 p
la

c
e

ro
b

o
ts

Y
P
-X

C
L
E
A

N
C

O
N

T
R

O
L
L
E
R

IN
F
O

R
M

A
T
IO

N

340

L
a
rg

e
 ty

p
e

S
m

a
ll / 

M
e
d
ium

 type
W

a
ll-m

o
u
n
t /

in
v
e
rse

 typ
e

D
u
s
t-p

ro
o
f 

&
 d

rip
-p

ro
o
f 

typ
e

O
rb

it ty
p
e

Controller RCX340 508 RCX240 495

Ordering method

YK500TW

RCX340
RCX240-R3

2500

Programming /
I/O point trace /

Remote command /
Operation 

using RS-232C 
communication

Recommended positional relationship between the load weight and the 
offset amount from the center of the R-axis (center of gravity position)

Weight (kg)

Offset (mm)

0
0 1 2 3 4

20

40

60

100

80

250 mm 250 mm 130 mm -

+/-225 ° +/-225 ° - +/-720 °

750 W 400 W 200 W 105 W

Harmonic drive Harmonic drive Ball screw Belt speed reduction

Timing belt Direct-coupled Timing belt
Timing belt

Direct-coupled

+/-0.015 mm +/-0.01 mm +/-0.01 °

6.8 m/sec 1.5 m/sec 3000 °/sec

5 kg (RCX340), 4 kg (RCX240)

0.29 sec

0.005 kgm
2

0.05 kgm
2

0.15 sq × 8 wires

6 × 2

1.Soft limit   2.Mechanical stopper (X,Y,Z axis)

Standard: 3.5 m   Option: 5 m, 10 m

27 kg

Note 1. This is the value at a constant ambient temperature.

Note 2. 

Note 3. When moving a 1 kg load back and forth 300 mm horizontally and 25 mm vertically (rough positioning arch motion).

Note 4. Limits must be placed on parameters such as acceleration according to the moment of inertia being used. See P.536.

Orbit type

YYYKK5500000TTWWW

Z-axis lower end mechanical stopper position

2
7

0 (Installation surface)
20
26.5

93

317

352

392 +/-2

522

215

5

0

392 (100) 30

4
1

3
0

2
2

6

3
8

.5

Z-axis upper end mechanical stopper position

(5mm rise during return-to-origin)

45115

(R
)

115

M4 ground terminal

X-axis: during CW motionX-axis: during CCW motion

320

276
225

1
6

6

2

1
3

5

1
6

6

1
9

0

22

R
86

250

47

1
0

9

8
4

26100168

1
6

6

205 185

ϕ16 h7       0
-0.018

3
1

(ϕ
16

 h
7 

ra
ng

e)

(3
0

0
)

Tube through hollow shaft

22
5°

2
2
5
°2

2
5
°

R250

R500

Y-axis overlap area

225°

2
2
5
°

R250

R500225°

Y-axis overlap area

ϕ6 H7          Depth12+0.012
0

Connects to arm
User tubing 2 (ϕ6 Red)

Connects to arm
User tubing 1 (ϕ6 black) 

2x2-M4x0.7

(Same on 
opposite side)

Depth8

2 Width across 
flats 14

Connects to base
User tubing 2 (ϕ6 Red)

D-sub connector for user wiring

(No.1 to 8 usable) Connects to base
User tubing 1 (ϕ6 Black)

M8x1.25 Depth15
Hollow diameter ϕ7 
through-hole

6-ϕ11 through-hole counterbore ϕ18 depth 11
(For mounting from below)

Y-axis overlap area

Connects to spline tip

Tube connection port (ϕ4 Blue)

6        Depth12+0.02
0

6-M10x1.5 through-hole
(For mounting from above)

D-sub connector for user wiring (No.1 to 8 usable)

Y-axis overlap area

* Tube (ϕ4) through hollow shaft protrudes
about 300mm from the spline tip.

* Tube through hollow shaft does not rotate
with spline during R-axis rotation.

Connects to base

User tubing 1 (ϕ6 Black)

Connects to base

User tubing 2 (ϕ6 Red)

D-sub connector for user wiring

(No.1 to 8 usable)

178.55
0

.5

4-ϕ9

R27 (Min. cable bending radius)
Do not move the cable.

Keep enough space for the maintenance 
work on the top face of the base.

Note: Upper section requires a 
 space of at least 250mm for 

detaching/attaching cover.

10
0:

 S
pa

ce
 n

ee
de

d 
fo

r 
ca

bl
e 

co
nn

ec
tio

n 
(N

ot
e)

Note. "Harmonic" and "Harmonic drive" are the registered trademarks 

of Harmonic Drive Systems Inc.

Note. To set the standard coordinates with high accuracy, use a 

standard coordinate setting jig (option). Refer to the user’s 

manual (installation manual) for more details.

Our robot manuals (installation manuals) can be 

downloaded from our website at the address below:

YK500TW 130
130: 130mm No entry: NoneNo entry: None No entry: NoneNo entry: None 3L: 3.5m 

S: With hollow shaft 5L: 5m
10L: 10m

RCX340-4

Specify various controller setting items. RCX340 P.508

RCX240 R3 BB

Specify various controller setting items. RCX240/RCX240S P.495



A
P
P
L
IC

A
T
IO

N

C
o

m
p

a
c
t

s
in

g
le

-a
x
is

 ro
b

o
ts

T
R

A
N

S
E
R

V
O

S
in

g
le

-a
x
is

 ro
b

o
ts

F
L
IP

-X

L
in

e
a

r m
o

to
r

s
in

g
le

-a
x
is

 ro
b

o
ts

P
H

A
S
E
R

C
a

rte
s
ia

n

ro
b

o
ts

X
Y
-X

S
C

A
R

A

ro
b

o
ts

Y
K

-X

P
ic

k
 &

 p
la

c
e

ro
b

o
ts

Y
P
-X

C
L
E
A

N
C

O
N

T
R

O
L
L
E
R

IN
F
O

R
M

A
T
IO

N

L
in

e
a

r c
o

n
v
e

y
o

r 
m

o
d

u
le

s

L
C

M
1
0

0
L

a
rg

e
 ty

p
e

S
m

a
ll / 

M
e
d
ium

 type
W

a
ll-m

o
u
n
t /

in
v
e
rse

 typ
e

D
u
s
t-p

ro
o
f 

&
 d

rip
-p

ro
o
f 

typ
e

O
rb

it ty
p
e

Controller RCX340 508 RCX240 495

YYYKK5500000TTWWW

45115

(R
)

115

M4 ground terminal

Details of tool flange section

320

276
225

1
6

6

2

1
3

5

1
6

6

1
9

0

22

R
86

250
47

1
0

9

8
4

26100168

1
6

6

205 185

4
2

22.6

22.6

22
.6

22
.6

22.6 ±0.02

9
0

°

Detailed drawing A

ϕ35

ϕ55

ϕ30 h7      -0.021
0

ϕ4 H7         through-hole

4-ϕ4.5 through-hole

+0.012
0

7±
0.

02

* There is no phase relation between mounting hole 
and R-axis origin position.

(3
0

0
)

22
5°

2
2
5
°2

2
5
°

R250

R500

Y-axis overlap area

Y-axis overlap area

225°

2
2
5
°

R250

R500225°

Y-axis overlap area

Y-axis overlap area

0 
(Installation 
surface)

361
393
407+/-2

537

5
4

1
3

0

A

ϕ6 H7          Depth12+0.012
0

6         Depth12+0.02
0

Connects to arm
User tubing 2 (ϕ6 Red)

Connects to arm
User tubing 1 (ϕ6 black) 

6-M10x1.5 through-hole
(For mounting from above)

Z-axis lower end mechanical stopper position

Z-axis upper end mechanical stopper position

(5mm rise during return-to-origin)

Hollow diameter ϕ7
through-hole

D-sub connector for user wiring (No.1 to 8 usable)
X-axis: during CW motionX-axis: during CCW motion

Connects to base
User tubing 2 (ϕ6 Red)

D-sub connector for user wiring

(No.1 to 8 usable)
Connects to base
User tubing 1 (ϕ6 Black)

6-ϕ11 through-hole counterbore ϕ18 depth 11
(For mounting from below)

Connects to spline tip

Tube connection port (ϕ4 Blue)

Connects to base

User tubing 2 (ϕ6 Red)

D-sub connector for user wiring

(No.1 to 8 usable) Tube through hollow shaft

Connects to base

User tubing 1 (ϕ6 Black)

* Tube (ϕ4) through hollow shaft protrudes
about 300mm from the spline tip.

* Tube through hollow shaft does not rotate
with spline during R-axis rotation.

5
0

.5

4-ϕ9

R27 (Min. cable bending radius)
Do not move the cable.

Keep enough space for the maintenance 
work on the top face of the base.

Note: Upper section requires a 
 space of at least 250mm for 

detaching/attaching cover.

10
0:

 S
pa

ce
 n

ee
de

d 
fo

r 
ca

bl
e 

co
nn

ec
tio

n 
(N

ot
e)

YK500TW


